
 +1-760-591-7383   fxl.com

Replacement Parts 

DESIGNER | RECESSED WALL LIGHT | SL-3

ITEM DESCRIPTION PART #

1 Faceplate, Beveled (BV) †

2 Faceplate, Round (RD) †

3 Faceplate, Flat (FT) †

4 Faceplate, Curved (CV) †

5 Screw, #4-40 x 1" 250028410000

6 Gasket for Faceplate †

7 Gasket for Lens 250028370000

8 Lens 250028380000

9 Beam Angle Lens See LED Chart

10 Screw See LED Chart

11 Reflector See LED Chart

12 LED Board See LED Chart

13 Socket, 10' (3 m) †

14 Housing †

15 Screw, #6-32 x 3/ 8" 250028400000

16 Screw, #6-32 x 1/ 2" 250028910000

17 Mounting Bracket 250028290000

18 Screw, #6-32 x 1/4" 250028900000

19 Mounting Latch 250028300000

1, 5-6 Faceplate Assembly, Beveled (BV) SL-FP-BV-XX*

2, 5-6 Faceplate Assembly, Round (RD) SL-FP-RD-XX*

3, 5-6 Faceplate Assembly, Flat (FT) SL-FP-FT-XX*

4, 5-6 Faceplate Assembly, Curved (CV) SL-FP-CV-XX*

NS Hex Key, 1/ 20" 250028900000

NS = Not shown
* XX = Finish code 
† This part is not serviceable. Contact Customer Support or a local  
distributor to order a new product.

9

1

7
8

6

11

12

13

14

15

16

17

10

1 2 3 4

5
4

1

1

1

1

E0000AAA7/22/2012

REVECOREVISION DESCRIPTIONDRFTDATE

ITEM NO.PART NUMBERDESCRIPTION
Curve 

Faceplate/
Default/Q

TY.

12500307500XXFACEPLATE, CURVE, SL-51

5250030760000GASKET, LENS, SL-51

32500307400XXBODY, SL-51

4250030840000LENS, SL-51

250028890000J-BOX, 1G, NW, PLASTIC1

250030730000CLEAR  LENS, SL-51

250030800000SMALL DIFFUSER, SL-51

25002863000090 DEGREE SOCKET, 
INTEGRATED LED1

250030810000SHEETMETAL, TAB, SL-52

250030820000WALL GASKET, CURVE, SL-51

1250031030000SCREW, PNH, M3.5X0.6MM, 8MM 
LG, PHILLIPS, SST 4

250031020000SCREW, FH, M3.5X0.6MM, 6MM LG, 
PHILLIPS, SST2

250031040000SCREW, SCH SET, M3X0.5MM, 
20MM LG, CUP POINT, SST1

14250014810000SCREW, FH, 6-32 X 7/16 LG, MACH, 
PHILLIPS, SST, 82 DEG2

250031050000SCREW, PNH, M3X0.5MM, 5MM LG, 
PHILLIPS, SST2

17520XXPCA, LED, 3X1

250029820000SCREW, PH, 4-40 X 1/4, PHIL, SST2

18250030790000SHEETMETAL, HOR, SL-51

A

B

C

D

4321

DIMENSIONAL
TOLERANCES:

REL.
DATE:

TITLE:

COLOR:

MATERIAL
SPEC:

SCALE:

DRAWING NO.REV.

PRINT
DATE:

UNLESS OTHERWISE SPECIFIED:

SURFACE FINISH:

ALL DIMENSIONS ARE IN INCHES

DO NOT SCALE DRAWING

1:4

ANGLES:±1°

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

C

D

A

B

4321
SHEET  1  OF  1

.XX = ±.01
.XXX = ±.005

.XXXX = ±.0005
THIRD ANGLE PROJ.

C
SIZE:

4/19/2021

DRAWN
BY:

PRODUCT:

MATERIAL:

THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR 
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER. 
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC. 

CONFIDENTIAL AND PROPRIETARY

C1 FORMAT REVISION 11/20/2017 

DENOTES FUNCTIONALLY CRITICAL POINTS
DENOTES CRITICAL INSPECTION POINTS

,      Faceplate Assembly, Curve                                   

                  Faceplate Assembly, Flat                                     SL5FPFTxx*

,           Lens Assembly                                                  

        

        Mounting Kit, Curve                                              
                 Mounting Kit, Flat                                                  MKSL5FT

5

1

2

3

4

9

11
12

13

10

5

8

15

6

7

ITEM 
NO.PART NUMBERDESCRIPTION1LED-

XX/QTY.

12500283300XXFACEPLATE, ROUND1

2250028360000GASKET, FACEPLATE1

3250028370000GASKET, LENS1

4250028380000LENS, BATWING, PMMA1

5762400SCREW,  PNH, 4-40 X 3/8 LG, MACH, 
PHILLIPS, SST2

6770000REFLECTOR, 1X, G21

77519XXPCA, LED, 1X1

87526xxCONNECTOR OVERMOLDED1

92500283100XXHOUSING1

10250028400000SCREW, PN, 6-32 X 3/8, PHIL, SST4

11250028910000SCREW, FH, 6-32 X 1/2, PHIL, SST2

12250028300000MOUNTING LATCH1

13250028390000SCREW, FH, 6-32 X 1/4, PHIL, SST2

14250028290000MOUNTING PLATE1

15250028410000SCREW, SOC HD, 4-40 X 1", SST1

B1E7997REMOVED COLOR FILTERS, 7701XX & 7708XX 
FROM BOM AND BOM MATRIXCP3/21/2022

A1E7912DOCUMENT RELEASEAZ09/27/2021

REVECOREVISION DESCRIPTIONDRFTDATE
N/A
MATERIAL:

PRODUCT:

DRAWN
BY:

2/12/2024

SIZE:
B

THIRD ANGLE PROJ.

.XX = ±.01
.XXX = ±.005

.XXXX = ±.0005

SHEET  1  OF  2

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

±1° ANGLES:

N/A

B1 21110861XXXX

CESL-3 ASSEMBLY

1:3

DO NOT SCALE DRAWING

ALL DIMENSIONS ARE IN INCHES

SURFACE FINISH:

UNLESS OTHERWISE SPECIFIED:

PRINT
DATE:

REV. DRAWING NO.

SCALE:

Material
Spec:

Color:

TITLE: REL.
DATE:

DIMENSIONAL
TOLERANCES:

CONFIDENTIAL AND PROPRIETARY
THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR 
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER. 
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC. 

 B1 FORMAT REVISION 1 / 11 / 2018

DENOTES CRITICAL INSPECTION POINTS
DENOTES FUNCTIONALLY CRITICAL POINTS

NOTES: UNLESS OTHERWISE SPECIFIED

  1.     INTERPRET DRAWING PER ASME Y14.5M-1994.
  2.     REFER TO HUNTER POL1002 FOR AN 
          EXPLANATION OF THE FX PART NUMBERS.
  3.     BASE MODEL SHOWN. REFERENCE BOM MATRIX
          FOR ADDITIONAL OPTIONS.

18

19



 +1 760-591-7383   fxl.com FXLIT-027   SL-3   3/24

DESCRIPTION PART #

LED Replacement Kits (Board, Refl ector, Screws, Beam Angle Lenses)

1 LED Up Light Kit (2700K) KIT-1LED-RD-W

3 LED Up Light Kit (2700K) KIT-3LED-RD-W 

ZD 1 LED Up Light Kit (2700K) KIT-ZD-1LED-RD-W

ZD 3 LED Up Light Kit (2700K) KIT-ZD-3LED-RD-W 

ZDC 3 LED Kit, Medium ZDC-KIT-M

Refl ectors

1 LED Refl ector 770000

3 LED Refl ector 770700

ZDC 3 LED Refl ector, Medium 250022050000

Screws

1 LED/3 LED Screw, #4-40 x 3/ 8" (Qty Req: 2) 762400

DESCRIPTION PART #

LED Replacement Kits (Board, Refl ector, Screws, Color Filters)

1 LED Up Light Kit (3900K) 1LED-UL-KIT

3 LED Up Light Kit (3900K) 3LED-UL-KIT 

ZD 1 LED Up Light Kit (3900K ) ZD-1LED-UL-KIT 

ZD 3 LED Up Light Kit (3900K) ZD-3LED-UL-KIT 

ZD 3 LED T Up Light Kit (TURTLE) ZD-3LED-T-KIT

Color Filter Lenses Only

1 LED Color Filter, Amber 770100

1 LED Color Filter, Blue 770101

1 LED Color Filter, Green 770102

3 LED Color Filter, Amber 770800

3 LED Color Filter, Blue 770801

3 LED Color Filter, Green 770802

Optics Kits (Refl ector, Screws, Color Filters)

1 LED Optics Kit 1LED-OPTICS-KIT

3 LED Optics Kit 3LED-OPTICS-KIT

2nd Gen LED Chart 1st Gen LED Chart

DESCRIPTION PART #

Round Beam Angle Lenses

1 LED Spot Lens (20o) 770600

1 LED Flood Lens (35o) 1LED-FL-LENS

1 LED Wide Flood Lens (60o) 1LED-WFL-LENS

3 LED Spot Lens (20o) 771300

3 LED Flood Lens (35o) 3LED-FL-LENS

3 LED Wide Flood Lens (60o) 3LED-WFL-LENS

Beam Angle Lens Chart

DESIGNER | ROUND BOARDS WITH BEAM ANGLE LENSES, 1/3 LED 


